Series on the BC MC Test
2
1) The Maclaurin series for i IS Ym—ox™. What is a power series expansion for 1’_Cx2 ?
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(_171| ~_ is the Taylor series about zero for which function?
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3) A series expansion of SLTM is
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5) The coefficient of x3 in the Taylor series for e3* about x = 0 is
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6) The Taylor series for sin(2x) is
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7) The coefficient of x° in the Taylor’s series expansion about x = 0 for f(x) = sin(x?) is
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8) (C) If f(x) = X5,(sin®x)k, then f(1) is
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9) The sum of the infinite geometric series S A L S
2 16 128 1024

3 3
GoGeo. a; =5 r=- —=—25=

o U | w

10) Let f be the function given by f(x) = In(3 — x). The third degree Taylor polynomial
for f about x = 2 is
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11) The Taylor series for sinx about x = 0is x — % + x? — -« If f isafunction such that
f'(x) = sin(x?), then the coefficient of x” in the Taylor series for f(x) about x = 0 is
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The coefficient is — 2—11

12) What is the approximation of the value of sin 1 obtained by using the fifth-degree Taylor
polynomial about x = 0 for sinx?
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13) If Y- p a,x™ is a Taylor series that converges to f(x) for all real x, then f'(1) =
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14) ( C) The graph of the function represented by the Maclaurin series
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Puty = x3& y = e™* and see they intersect at = .773 .



15) What is the value of },;°_, 7,
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16) A function f has Maclaurin series given by Sttt Tt D!

Which of the following is an expression for (x) ? D

a) —3xsinx + 3x?
b) —cos(x?) +1
c) —x2cosx + x?
d) x2e* —x3—x?
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17) What is the coefficient of x? in the Taylor series for —— aboutx = 07
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The coefficient is -1.



18) Let P(x) = 3x2 — 5x3 + 7x* + 3x5 be the fifth-degree Taylor polynomial for the
function f about x = 0. What is the value of f"'(0)?
P(x) = 3x% — 5x3 + 7x* + 3x°
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19) What is the sum of the series 1 + In2 + + -
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20) If f(x) = xsin(2x), what is the Taylor series for f about x = 0?
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